
Lösungen Mathe-Aufnahmeprüfung 2021 

Ohne Hilfsmittel 

1)   

a) 𝑛 − 6 

b) −3 

c) 
3𝑎

7
+

5𝑏

13
 

d) 40𝑥 

2) −
13

4
 

3) 6 kg Weizenmehl, 24 kg Äpfel, 2.4 kg Butter, 3.6 kg Zucker 

4)   

a) 7536.75 cm2 

b) 19.071 l 

5)  

a) −49𝑧 49𝑧 −588𝑧2 −
3

4
 49𝑧 7𝑧 

b) 4𝑚 −4𝑚 −3𝑚2 −
1

3
 −4𝑚 −2𝑚 

c) 66𝑞 −66𝑞 847𝑞2 7 −66𝑞 88𝑞 

6) √
𝑎3

2

3
= 𝑎 √

1

2

3
 

7) 𝑆𝑘𝑖𝑧𝑧𝑒 𝑒𝑖𝑛𝑒𝑟 𝑧𝑒𝑛𝑡𝑟𝑖𝑠𝑐ℎ𝑒𝑛 𝑆𝑡𝑟𝑒𝑐𝑘𝑢𝑛𝑔 𝑚𝑖𝑡 𝐵′𝑎𝑢𝑓 𝑔 

 

Mit Hilfsmitteln 

1)   

a) ≈ 0.7% 

b) ≈ 8′419′552 𝑃𝑒𝑟𝑠𝑜𝑛𝑒𝑛 

c) ≈ 9′046′147 𝑃𝑒𝑟𝑠𝑜𝑛𝑒𝑛 

2)   

a) ≈ 19 𝑚3 

b) ≈ 53 𝑚2 

c) ≈ 18′473 𝑙 

3) ≈ 23.1 𝑐𝑚3, ≈ 71.3 𝑐𝑚2 

4) 20% 

5)   

a) 4320 𝑚𝑎𝑙 

b) 10.8 𝑐𝑚 

6)   

a) 825 𝑚 

b) ≈ 844.5 
𝑘𝑚

ℎ
 

c) ≈ 15.5 𝑠𝑒𝑘 

 


